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Spatial Planning

Strategic Environmental Assessment

Site development plan

Strategic Environmental Assessment

Preliminary assessment of sites

Suitability review

Strategic Environmental Assessment

Approval procedure

Environmental impact assessment / environmental audit
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Strategic Environmental Assessment
Environmental Impact Assessment
Environmental Assessment

Assessing the environmental impact on protected assets
in accordance with environmental assessment principles

Animals
[JELS
bio- Cultural assets People
diversity and other Human
material assets health

Marine W:itre’
fpss Climate

Marine Sea floor Landscape

mammals
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Spatial Planning

Protection and
Scientific use improvement of the
marine environment

Safetylefficiency Economic
of navigation uses

b

Focus:
Consideration of areas
(wide corridors)

Pipelines
Data cables
Licensing procedure according to the Federal Mining Act

+ Concerning mining (through the Landesbergamt) and
+ Concerning the organisation of the use and
exploitation of waters above the continental shelf and

the airspace above these waters (by BSH) Focus:
Local consideration on request,
based on project-specific information

Construction, operation and dismantling and framework parameters
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